
  

 

 

DIPLOMA EXAMINATION – JANUARY 2015. 

Computer Applications  

WINDOWS AND INTERNET  

Time : 3 hours Maximum  marks : 75 

SECTION A — (20 × 1 = 20 marks) 

Answer ALL questions. 

1. Operating system is a ––––––––––– 

 (a) System software   

 (b) Hardware  

 (c) Application software  

 (d) Firmware  

 B¨£÷μmi[ ]ìh® Gß£x ––––––––––––  

 (A) ]ìh® \õ¨m÷Áº   

 (B) íõk÷Áº  

 (C) A¨¤Î÷Påß \õ¨m÷Áº  

 (D) L£º®÷Áº  
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2. Which is primary output device?   

 (a) Printer   (b) Floppy Disc 

 (c) Light pen  (d) VDU 

 ¤øμ©› öÁÎ±mk P¸Â Gx?  

 (A) ¤›ßhº  (B) ¤Íõ¨¤ iìU  

 (C) ø»m ö£ß  (D) VDU 

3. 1024 kb is referred to as   

 (a) Megabyte   (b) Kilobyte  

 (c) Gigabyte   (d) None of these  

 1024 kb Gß£x GuøÚ SÔUQÓx?  

 (A) ö©Põø£m  (B) Q÷»õ ø£m  

 (C) âPõ ø£m  (D) JßÖªÀø»  

4. Which of the following is not a programming 
language?  

 (a) Unix   (b) C 

 (c) Forth   (d) Ada  

 ¤ßÁ¸ÁÚÁØÔÀ Gx ¦÷μõQμõª[ ö©õÈ 

AÀ»õux?  

 (A) ²ÛUì   (B) C 

 (C) Forth  (D) Ada 
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5. ROM stands for   

 (a) Read Only Memory   

 (b) Random only memory  

 (c) Remote only memory  

 (d) Remote ordinary memory 

 ROM Gß£uß Â›ÁõUP®  

 (A) Read Only Memory   

 (B) Random only memory  

 (C) Remote only memory  

 (D) Remote ordinary memory 

6. Maximum number of buttons in a mouse   

 (a) one   (b) three 

 (c) two   (d) four  

 _mi°À EÒÍ £mhÛß GsoUøP GzuøÚ  

 (A) JßÖ   (B) ‰ßÖ  

 (C) Cμsk   (D) |õßS  

7. Recycle bin is used to dump the files  

 (a) Deleted files  (b) Converted files 

 (c) Copied files (d) Saved files 



 DIP-417 4

 Ÿ ø\UQÒ ¤ß G¢u ÷Põ¨¦PøÍ øÁ¨£uØS 

EuÄQÓx 

 (A) öh¼÷hk ø£À  (B) PßÁºmhk ø£À 

 (C) Põ¨¤k ø£À (D) ÷\Æk ø£À  

8. VDU is a ––––––––––– device  

 (a) Input  (b) Output  

 (c) Memory  (d) All the above  

 VDU Gß£x ––––––––––––  P¸Â 

 (A) Cß¦m  (B) AÄm¦m  

 (C) {øÚÁP  (D) AøÚzx®  

9. PC stands for   

 (a) Personal calculator (b) Pocket calculator 

 (c) Personal computer (d) Pocket computer  

 PC Gß£uß Â›ÁõUP®  

 (A) Personal calculator  

 (B) Pocket calculator 

 (C) Personal computer  

 (D) Pocket computer  

10. The capacity of the floppy is   

 (a) 1.44 MB  (b) 1.0 GB 

 (c) 1.33 MB  (d) None  
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 ¤Íõ¨¤°ß öPõÒÍÍÄ  

 (A) 1.44 MB  (B) 1.0 GB 

 (C) 1.33 MB  (D) JßÖªÀø»  

11. MS-DOS is an example for  

 (a) Single user OS (b) Multi user OS 

 (c) Networking OS (d) None of these  

 MS-DOS Gß£x CuØPõÚ Euõμn®  

 (A) Single user OS (B) Multi user OS 

 (C) Networking OS (D) JßÖªÀø» 

12. The base value of octal is   

 (a) 10   (b) 16 

 (c) 2   (d) 8 

 Octal ß base ©v¨¦ Cx  

 (A) 10   (B) 16 

 (C) 2   (D) 8 

13. The binary equivalent of 8 is   

 (a) 1111   (b) 1100 

 (c) 1000   (d) 1001 

 8US Cøn¯õÚ ø£Ú› Gs  

 (A) 1111   (B) 1100 

 (C) 1000   (D) 1001 
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14. The speed unit of laser printer is   

 (a) CPS   (b) LPM 

 (c) PPM   (d) BPS 

 ÷»\º ¤›ßh›ß ÷ÁPzøu SÔUS® AÍÄ ÷PõÀ Cx  

 (A) CPS   (B) LPM 

 (C) PPM   (D) BPS 

15. Plotters are used for –––––––––––  

 (a) Graphic printing  (b) Label printing 

 (c) Report printing (d) None of the above  

 Plotters GuØPõP E£÷¯õP¨£kQÓx  

 (A) Qμõ¤Uì ¤›ßi[ (B) ÷»¤À ¤›ßi[ 

 (C) ›¨÷£õºm ¤›ßi[ (D) JßÖªÀø»  

16. The first page of web site is called   

 (a) Web page   (b) First page 

 (c) Home page  (d) None  

 J¸ Cøn¯ uÍzvß •uÀ £UPzøu CÆÁõÖ 

AøÇUQ÷Óõ®  

 (A) öÁ¨÷£ä  (B) L£ìm ÷£ä 

 (C) ÷íõ® ÷£ä (D) JßÖªÀø» 
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17. LAN stands for   

 (a) Looking Area Network   

 (b) Looking Antna  Network   

 (c) Local Area Network      

 (d) Local Antna Network    

 LAN Gß£uß Â›ÁõUP®  

 (A) Looking Area Network   

 (B) Looking Antna  Network   

 (C) Local Area Network      

 (D) Local Antna Network    

18. Machine language is called   

 (a) Low level language  

 (b) Middle level language 

 (c) High level language 

 (d) None of the above  

 ö©]ß ö©õÈ Gß£x  

 (A) ÷»õ ö»ÁÀ ö©õÈ   

 (B) ªiÀ ö»ÁÀ ö©õÈ 

 (C) øí ö»ÁÀ ö©õÈ 

 (D) JßÖªÀø» 



 DIP-417 8

19. URL stands for   

 (a) Universal Resource Locator  

 (b) Universal Reference Locator 

 (c) Uniform Resource Locator    

 (d) Uniform Reference Locator 

 URL Gß£x  

 (A) Universal Resource Locator  

 (B) Universal Reference Locator 

 (C) Uniform Resource Locator    

 (D) Uniform Reference Locator 

20. Yahoo is a –––––––––––   

 (a) Search Engine  (b) Help Engine 

 (c) Kernal   (d) None  

 Yahoo Gß£x ––––––––––––  

 (A) \ºa Gßâß  (B) öíÀ¨ Gßâß  

 (C) öíºÚÀ  (D) JßÖªÀø» 
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SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

21. Differentiate between hardware and software.    

 Hardware ©ØÖ® Software I ÷ÁÖ£kzxP.  

22. Explain basic computer operations.  

 Poo°ß Ai¨£øh ö\¯À£õkPøÍ £ØÔ ÂÁ›.  

23. List out merits and demerits of internet.  

 Cøn¯zvß |ßø© ©ØÖ® wø©PøÍ GÊx.  

24. Write the feature of E-mail.  

 E-mail ß Snõv\¯[PøÍ £ØÔ SÔ¨¤kP.  

25. Explain the history of windows.  

 Âs÷hõìß Áμ»õØøÓ ÂÁ›.  

26. Explain various storage devices.  

 £À÷ÁÖ {øÚÁP P¸ÂPøÍ ÂÁ›.  

27. How to change date and time.  

 ÷uv ©ØÖ® ÷|μzøu GÆÁõÖ ©õØÖÁõ´?  

28. Explain the types of internet connections.  

 £À÷ÁÖ ÁøP Cøn¯ PöÚU\ß £ØÔ ÂÁ›.  
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SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

29. Explain different types of computer. 

 £À÷ÁÖ ÁøP Poö£õÔPøÍ £ØÔ ÂÁ›.  

30. What is virus? How to product the virus?  

 øÁμì GßÓõÀ GßÚ? øÁμì – I GÆÁõÖ uk¨£x?  

31. Explain the various output devices. 

 £À÷ÁÖ öÁÎ±mk P¸ÂPøÍ £ØÔ ÂÁ›.  

32. What is modem? How it is functioning?  

 Modem GßÓõÀ GßÚ? Ax GÆÁõÖ ÷Áø» 

ö\´QÓx?  

33. Explain the window media player. 

 Âs÷hõì «i¯õ ¤÷Í¯øμ £ØÔ ÂÁ›.  

––––––––––––––– 


